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$36,000
$86,000
$148,000
$150,000
$238,000
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scarf
cello SEIEES First Names Instruments Accessories
piccolo $36,000
$86,000
trombone
$148,000
trumpet $150,000
viola $238,000

1. The employee with the $148,000 salary is Quinton.

2. The musician who plays the piccolo is not Quinton.

3. The 5 people were Miriam, the musician who plays the trumpet, the person who bought the hat, the employee with
the $148,000 salary, and Cade.

4. The employee with the $150,000 salary plays the viola.

5. The person who bought the earrings doesn't play the trumpet.

6. The employee with the $150,000 salary bought the scarf.

7. The musician who plays the trombone is Lukas.

8. The person who bought the purse doesn't play the piccolo.

9. The person who bought the earrings doesn't play the piccolo.

10. The person who bought the belt earns less than the musician who plays the trumpet.

11. The person who bought the belt earns more than the musician who plays the trombone.

12. The musician who plays the viola is not Cade.

13. Cade earns less than Anya.
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